Name: _________________________________

Date: ________________________

.…BLM 21.…

(continued)


Factor Theorem


1.
What is the corresponding “binomial factor” of a polynomial P(x) given the value of the zero?

a) P(6)  0

b) P(7)  0
c) P(2)  0
d) P(5)  0

2.
Determine whether x  1 is a factor of each polynomial.

a) 4x4  3x3  2x2  x  5
b) 2x3  5x2  7


3.
State whether each polynomial has x  2 as a factor.

a)  5x2  6x  8

                   b) 2x4  3x3  5x2
   c) 3x3  12x  2

4.
What are the” possible” integral zeros of each polynomial?

a) P(n) = n3  2n2  5n  12
b) P(p) = p4  3p3  p2  7p  6
c) P(z) = z4  4z3  3z2  8z  25
d) P(y) = y4  11y3  2y2  2y  10


5.
Determine the value(s) of k so that the binomial is a factor of the polynomial.

a) x2  8x  20, x  k
b) x2  3x  k, x  7

6.
Each polynomial has a factor of x  3.  What is the value of k in each case?

a) kx3  10x2  2x  3
b) 4x4  3x3  2x2  kx  9
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